Пробный ЕГЭ 22 февраля

Вариант 1

	№задан
	В1
	В2
	В3
	В4
	В5
	В6
	В7
	В8
	В9
	В10
	В11
	В12
	В13
	В14

	ответ
	32
	11
	8
	1960
	- 4
	- 0,4
	- 3 
	4
	1
	0,2
	9
	8
	18
	- 1


Вариант 2

	№задан
	В1
	В2
	В3
	В4
	В5
	В6
	В7
	В8
	В9
	В10
	В11
	В12
	В13
	В14

	ответ
	9
	6
	6
	3996
	0
	- 0,96
	1
	44
	6
	0,6
	4
	20
	960
	1



Вариант 3
	№задан
	В1
	В2
	В3
	В4
	В5
	В6
	В7
	В8
	В9
	В10
	В11
	В12
	В13
	В14

	ответ
	6840
	- 14
	6
	16470
	3
	30
	22,08
	- 3
	2
	0,36
	12
	40
	10
	5


Вариант 4

	№задан
	В1
	В2
	В3
	В4
	В5
	В6
	В7
	В8
	В9
	В10
	В11
	В12
	В13
	В14

	ответ
	10
	4
	13
	477
	5
	5
	6
	1
	5
	0,14
	9
	0,8
	50
	1


